HEIRERMINT AEREEFRIER
ASHERFEENRL(FH7ES~9R)

BER

- 100

80

60
40

1.5 <«
£
] \\ - 60%
§10 \ =
* \ '4>$
\ - a's"| ~
0.0 +—o IR . i 25 B
5H 7H 8H 9AH
1.5 ——— HAXLVE —— 100
(WERE) o
# 0 ' %
i 60m
&
0.5 - 40%
Z 20%
OO +—0 — & ; - BN O
5 6H 7H 8H 9H
0.5 — F¥/FO07HIUY — 100
SR
0.4 (HWERK) 803
=
20.3 60mE
® i
%0-2 40%
%0.1 50%
~ *___‘~~~‘*__—‘
6H 7H 8H 9AH
- 100
80 %
&
60\
&
40=%
202
0

(%) 454 ot B HF ok

h
L

o\ 8 C e

£0.2

£2.0

5.0 -

4.0

£2.0

3/910

0.0

mZOZS(EEX)

- JZE{
=0-2025

AXLIFE
(FhLvEEL)

9H

5H

— Fe/EAOPYIIR -
(FERE)

6H 7R 8H

B

9R

- -

8H

6R 7H

r AT AAASLY(FERER) -

100

T~ AR‘

1l o — M’I’ i : .

5 6H 7H 8H 9H
NIFLVE 100
80%
&
60
2ol

o - =~ ¥ :

6H 7H 8H



